
Pensieve Header: Alexander blobs Results.

SetDirectory@"C:\\drorbn\\AcademicPensieve\\2011-08\\w-Computations\\Recycling"D;

<< "AlexanderBlobs-Program-110820.m"

b@r@1, 2D, r@1, 3DD + b@r@1, 2D, r@2, 3DD

-Diag@h@1D, ar@2, 3DD + Diag@h@2D, ar@1, 3DD

b@r@1, 2D, r@1, 3DD + b@r@1, 2D, r@2, 3DD + b@r@1, 3D, r@2, 3DD

0

ModDegree@4, R@1, 2DD

Diag@1D + Diag@1, ar@1, 2DD +

1

2
Diag@1, ar@1, 2D, ar@1, 2DD +

1

6
Diag@1, ar@1, 2D, ar@1, 2D, ar@1, 2DD

ModDegree@7, R@1, 2D ** R@1, 3D ** R@2, 3D - R@2, 3D ** R@1, 3D ** R@1, 2DD

0

v@0D = 0;

d = 1;

ModDegreeAd + 1,

PrintA

v@dD = v@d - 1D -

1

2
Diag@1, ar@1, 2DD

E;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
E

-

1

2
Diag@1, ar@1, 2DD

0

d = 2;

ModDegree@d + 1,

Print@
v@dD = v@d - 1D + H1 � 24L Diag@h@1D, ar@1, 2DD + H1 � 12L Diag@h@2D, ar@1, 2DD

D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD +

1

12
Diag@h@2D, ar@1, 2DD

0



d = 3;

ModDegree@d + 1,

Print@
v@dD = v@d - 1D

D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD +

1

12
Diag@h@2D, ar@1, 2DD

0

d = 4;

ModDegree@d + 1,

Print@
c@d, 0D = -1 � 720; c@d, 1D = -1 � 480; c@d, 2D = -1 � 720; c@d, 3D = -1 � 2880;

v@dD = v@d - 1D + Sum@c@d, kD Diag@h@1D^k * h@2D^Hd - 1 - kL, ar@1, 2DD, 8k, 0, d - 1<D
D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD -

DiagAh@1D3, ar@1, 2DE

2880
+

1

12
Diag@h@2D, ar@1, 2DD -

1

720
DiagAh@1D2 h@2D, ar@1, 2DE -

1

480
DiagAh@1D h@2D2, ar@1, 2DE -

1

720
DiagAh@2D3, ar@1, 2DE

0

d = 5;

ModDegree@d + 1,

Print@
c@5, _D = 0;

v@dD = v@d - 1D + Sum@c@d, kD Diag@h@1D^k * h@2D^Hd - 1 - kL, ar@1, 2DD, 8k, 0, d - 1<D
D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD -

DiagAh@1D3, ar@1, 2DE

2880
+

1

12
Diag@h@2D, ar@1, 2DD -

1

720
DiagAh@1D2 h@2D, ar@1, 2DE -

1

480
DiagAh@1D h@2D2, ar@1, 2DE -

1

720
DiagAh@2D3, ar@1, 2DE

0
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d = 6;

ModDegree@d + 1,

Print@
c@6, 0D = 1 � 30 240; c@6, 1D = 1 � 12 096; c@6, 2D = 1 � 9072;

c@6, 3D = 1 � 12 096; c@6, 4D = 1 � 30 240; c@6, 5D = 1 � 181 440;

v@dD = v@d - 1D + Sum@c@d, kD Diag@h@1D^k * h@2D^Hd - 1 - kL, ar@1, 2DD, 8k, 0, d - 1<D
D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD -

DiagAh@1D3, ar@1, 2DE

2880
+

DiagAh@1D5, ar@1, 2DE

181 440
+

1

12
Diag@h@2D, ar@1, 2DD -

1

720
DiagAh@1D2 h@2D, ar@1, 2DE +

DiagAh@1D4 h@2D, ar@1, 2DE

30 240
-

1

480
DiagAh@1D h@2D2, ar@1, 2DE +

DiagAh@1D3 h@2D2, ar@1, 2DE

12 096
-

1

720
DiagAh@2D3, ar@1, 2DE +

DiagAh@1D2 h@2D3, ar@1, 2DE

9072
+

DiagAh@1D h@2D4, ar@1, 2DE

12 096
+

DiagAh@2D5, ar@1, 2DE

30 240

0

ModDegree@7, V@6D ** Adjoint@V@6DDD

Diag@1D

d = 7;

ModDegree@d + 1,

Print@
c@7, _D = 0;

v@dD = v@d - 1D + Sum@c@d, kD Diag@h@1D^k * h@2D^Hd - 1 - kL, ar@1, 2DD, 8k, 0, d - 1<D
D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD -

DiagAh@1D3, ar@1, 2DE

2880
+

DiagAh@1D5, ar@1, 2DE

181 440
+

1

12
Diag@h@2D, ar@1, 2DD -

1

720
DiagAh@1D2 h@2D, ar@1, 2DE +

DiagAh@1D4 h@2D, ar@1, 2DE

30 240
-

1

480
DiagAh@1D h@2D2, ar@1, 2DE +

DiagAh@1D3 h@2D2, ar@1, 2DE

12 096
-

1

720
DiagAh@2D3, ar@1, 2DE +

DiagAh@1D2 h@2D3, ar@1, 2DE

9072
+

DiagAh@1D h@2D4, ar@1, 2DE

12 096
+

DiagAh@2D5, ar@1, 2DE

30 240

0
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d = 8;

ModDegree@d + 1,

Print@
c@8, 0D = -1 � 1 209 600; c@8, 1D = -1 � 345 600;

c@8, 2D = -1 � 172 800; c@8, 3D = -1 � 138 240; c@8, 4D = -1 � 172 800;

c@8, 5D = -1 � 345 600; c@8, 6D = -1 � 1 209 600; c@8, 7D = -1 � 9 676 800;

v@dD = v@d - 1D + Sum@c@d, kD Diag@h@1D^k * h@2D^Hd - 1 - kL, ar@1, 2DD, 8k, 0, d - 1<D
D;

V@dD = DExp@v@dDD;

V@dD ** DExp@r@1, 3D + r@2, 3DD - R@1, 3D ** R@2, 3D ** V@dD
D

-

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD -

DiagAh@1D3, ar@1, 2DE

2880
+

DiagAh@1D5, ar@1, 2DE

181 440
-

DiagAh@1D7, ar@1, 2DE

9 676 800
+

1

12
Diag@h@2D, ar@1, 2DD -

1

720
DiagAh@1D2 h@2D, ar@1, 2DE +

DiagAh@1D4 h@2D, ar@1, 2DE

30 240
-

DiagAh@1D6 h@2D, ar@1, 2DE

1 209 600
-

1

480
DiagAh@1D h@2D2, ar@1, 2DE +

DiagAh@1D3 h@2D2, ar@1, 2DE

12 096
-

DiagAh@1D5 h@2D2, ar@1, 2DE

345 600
-

1

720
DiagAh@2D3, ar@1, 2DE +

DiagAh@1D2 h@2D3, ar@1, 2DE

9072
-

DiagAh@1D4 h@2D3, ar@1, 2DE

172 800
+

DiagAh@1D h@2D4, ar@1, 2DE

12 096
-

DiagAh@1D3 h@2D4, ar@1, 2DE

138 240
+

DiagAh@2D5, ar@1, 2DE

30 240
-

DiagAh@1D2 h@2D5, ar@1, 2DE

172 800
-

DiagAh@1D h@2D6, ar@1, 2DE

345 600
-

DiagAh@2D7, ar@1, 2DE

1 209 600

0

ModDegree@9, V@8D ** Adjoint@V@8DDD

Diag@1D

v@8D �. Diag@hs_, ar@1, 2DD ¦ hs �. 8h@1D ® h1, h@2D ® h2<

-

1

2
+

h1

24
-

h13

2880
+

h15

181 440
-

h17

9 676 800
+

h2

12
-

h12 h2

720
+

h14 h2

30 240
-

h16 h2

1 209 600
-

h1 h22

480
+

h13 h22

12 096
-

h15 h22

345 600
-

h23

720
+

h12 h23

9072
-

h14 h23

172 800
+

h1 h24

12 096
-

h13 h24

138 240
+

h25

30 240
-

h12 h25

172 800
-

h1 h26

345 600
-

h27

1 209 600

-1 209 600 * 8 * Table@c@8, kD, 8k, 0, 7<D

88, 28, 56, 70, 56, 28, 8, 1<

Table@Binomial@8, kD, 8k, 1, 8<D

88, 28, 56, 70, 56, 28, 8, 1<

Clear@PhiD;

Phi@d_D := ModDegree@d + 1,

V@dD = DExp@v@dDD;

Phi@dD = PutOn@881, 2<, 3<, Adjoint@V@dDDD **

Adjoint@V@dDD ** PutOn@82, 3<, V@dDD ** PutOn@81, 82, 3<<, V@dDD
D
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ModDegree@3, V@3DD

Diag@1D -

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD +

1

12
Diag@h@2D, ar@1, 2DD +

1

8
Diag@1, ar@1, 2D, ar@1, 2DD -

1

48
Diag@h@1D, ar@1, 2D, ar@1, 2DD -

1

24
Diag@h@2D, ar@1, 2D, ar@1, 2DD -

1

48
Diag@1, ar@1, 2D, ar@1, 2D, ar@1, 2DD

V@2D

Diag@1D -

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD +

1

12
Diag@h@2D, ar@1, 2DD +

1

8
Diag@1, ar@1, 2D, ar@1, 2DD

Phi@2D

Diag@1D +

1

12
Diag@h@1D, ar@2, 3DD -

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@1, 2DD

Pentagon@d_D := ModDegree@d + 1,

Phi@dD ** PutOn@81, 82, 3<, 4<, Phi@dDD ** PutOn@82, 3, 4<, Phi@dDD -

PutOn@881, 2<, 3, 4<, Phi@dDD ** PutOn@81, 2, 83, 4<<, Phi@dDD
D

Pentagon@2D

0

V@3D

Diag@1D -

1

2
Diag@1, ar@1, 2DD +

1

24
Diag@h@1D, ar@1, 2DD +

1

12
Diag@h@2D, ar@1, 2DD +

1

8
Diag@1, ar@1, 2D, ar@1, 2DD -

1

48
Diag@h@1D, ar@1, 2D, ar@1, 2DD -

1

24
Diag@h@2D, ar@1, 2D, ar@1, 2DD -

1

48
Diag@1, ar@1, 2D, ar@1, 2D, ar@1, 2DD

Phi@3D

Diag@1D +

1

12
Diag@h@1D, ar@2, 3DD -

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@1, 2DD

Pentagon@3D

0

Pentagon@4D

0

Pentagon@5D

$Aborted

Pentagon@3D

0
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b@Pentagon@3D, PutOn@881, 2, 3, 4<, 5<, Diag@1, ar@1, 2DDDD

0

b@Pentagon@3D, PutOn@881, 2, 3, 4<, 5<, Diag@1, ar@2, 1DDDD

0

Phi@3D

Diag@1D +

1

12
Diag@h@1D, ar@2, 3DD -

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@1, 2DD

b@Phi@3D, PutOn@881, 2, 3<, 4<, Diag@1, ar@2, 1DDDD

0

b@Phi@3D, PutOn@881, 2, 3<, 4<, Diag@1, ar@1, 2DDDD

0

Phi@2D

Diag@1D +

1

12
Diag@h@1D, ar@2, 3DD -

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@1, 2DD

b@Phi@2D, PutOn@881, 2, 3<, 4<, Diag@1, ar@1, 2DDDD

0

RR@d_D := ModDegree@d + 1, DExp@1 � 2 Diag@1, ar@1, 2DD + 1 � 2 Diag@1, ar@2, 1DDDD;

RR@3D

Diag@1D +

1

2
Diag@1, ar@1, 2DD +

1

2
Diag@1, ar@2, 1DD +

1

8
Diag@h@1D, ar@2, 1DD +

1

8
Diag@h@1D, ar@2, 2DD +

1

48
DiagAh@1D2, ar@2, 1DE +

1

48
DiagAh@1D2, ar@2, 2DE -

1

8
Diag@h@2D, ar@1, 1DD -

1

8
Diag@h@2D, ar@1, 2DD -

1

48
Diag@h@1D h@2D, ar@1, 1DD -

1

48
Diag@h@1D h@2D, ar@1, 2DD -

1

48
Diag@h@1D h@2D, ar@2, 1DD -

1

48
Diag@h@1D h@2D, ar@2, 2DD +

1

48
DiagAh@2D2, ar@1, 1DE +

1

48
DiagAh@2D2, ar@1, 2DE +

1

8
Diag@1, ar@1, 2D, ar@1, 2DD +

1

4
Diag@1, ar@1, 2D, ar@2, 1DD +

1

8
Diag@1, ar@2, 1D, ar@2, 1DD +

1

16
Diag@h@1D, ar@1, 2D, ar@2, 1DD +

1

16
Diag@h@1D, ar@1, 2D, ar@2, 2DD +

1

16
Diag@h@1D, ar@2, 1D, ar@2, 1DD +

1

16
Diag@h@1D, ar@2, 1D, ar@2, 2DD -

1

16
Diag@h@2D, ar@1, 1D, ar@1, 2DD -

1

16
Diag@h@2D, ar@1, 1D, ar@2, 1DD -

1

16
Diag@h@2D, ar@1, 2D, ar@1, 2DD -

1

16
Diag@h@2D, ar@1, 2D, ar@2, 1DD +

1

48
Diag@1, ar@1, 2D, ar@1, 2D, ar@1, 2DD +

1

16
Diag@1, ar@1, 2D, ar@1, 2D, ar@2, 1DD +

1

16
Diag@1, ar@1, 2D, ar@2, 1D, ar@2, 1DD +

1

48
Diag@1, ar@2, 1D, ar@2, 1D, ar@2, 1DD
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Hexagon@d_D := ModDegree@d + 1,

PutOn@881, 2<, 3<, RR@dDD - Phi@dD ** PutOn@82, 3<, RR@dDD **

PutOn@81, 3, 2<, DInvert@Phi@dDDD ** PutOn@81, 3<, RR@dDD ** PutOn@83, 1, 2<, Phi@dDD
D

Phi@2D

Diag@1D +

1

12
Diag@h@1D, ar@2, 3DD -

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@1, 2DD

Y = b@Diag@1, ar@1, 2DD + Diag@1, ar@2, 1DD, Diag@1, ar@2, 3DD + Diag@1, ar@3, 2DDD

-Diag@h@1D, ar@2, 3DD + Diag@h@1D, ar@3, 2DD + Diag@h@2D, ar@1, 3DD -

Diag@h@2D, ar@3, 1DD - Diag@h@3D, ar@1, 2DD + Diag@h@3D, ar@2, 1DD
Y + b@Diag@1, ar@1, 2DD + Diag@1, ar@2, 1DD, Diag@1, ar@1, 3DD + Diag@1, ar@3, 1DDD

0

PutOn@82, 3, 1<, Phi@2DD - Phi@2D

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@2D, ar@3, 1DD -

1

12
Diag@h@3D, ar@1, 2DD -

1

12
Diag@h@3D, ar@2, 1DD

PutOn@82, 1, 3<, Phi@2DD

Diag@1D -

1

12
Diag@h@1D, ar@2, 3DD +

1

12
Diag@h@2D, ar@1, 3DD +

1

12
Diag@h@3D, ar@2, 1DD

b@Y, PutOn@881, 2, 3<, 4<, Diag@1, ar@1, 2DDDD

0

b@Y, PutOn@881, 2, 3<, 4<, Diag@1, ar@2, 1DDDD

0

Hexagon@2D

1

24
Diag@h@1D, ar@2, 3DD +

1

24
Diag@h@1D, ar@3, 2DD +

1

24
Diag@h@2D, ar@1, 3DD +

1

24
Diag@h@2D, ar@3, 1DD -

1

8
Diag@h@3D, ar@1, 2DD -

1

8
Diag@h@3D, ar@2, 1DD
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